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Elease read this information before the examination starts.

This examination is 60 minutes Ioﬁg.

All questions should be attempted. '

A row of dots ceenneeer dONOtES @ space for your answet.

A_completely borréct answér may receive no marks unless you show all your working.

Answers given as fractions should be reduced to their lowest terms.
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1. (a) Find the total amount spent on a book costing £3.85. & magazin i Sanda
cereal bar costing 47p. ‘

Answer £ .ciievennes el crveasnarees sesessenasas. (2

(b) Jess buys a CD for £6.74 |
- She pays with a £20 note.
How much change should she receive?

ANSWEII E oot (2
(d) The total mass of 5 identical parcels is 6.45 ki!ograms. B " T
 Calculate the mass of 1 parcel. —~—1!
| : 4 ‘g
"4 :

ANSWET: oo kg (2)
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'2_ {a) Calculate
(i) 15.6 x 0.2

{ii) 15.6 + 0.2

(b) Write 45 as a percentage of 360

(¢) Put these numbers in order of size, starting with the smalfest:

3 " 0303 03

Answer:': ......
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ANSWET: oo . ...... @
An-swer: ....... % (25 ‘
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3. (a) Calculate

MH5-4x3-2

ANSWEL:  eceurerveevsmsevesracassioessoesesseneressisanse (1)

(i) 54 = 32 + 1 -

ANSWET ceceiiicintrevarisrreessiernerassenssasesvaeens (1)

(b) (i) Write 132 as a product of its prime'factors.

A By

LT {2)
(ii) Hence write 1322 as a product of its prime factors, ysing indices.
ANSWET: oo ereeseeeasesenarsasaerasens rnssseserias (2)
AN T ST ;o | SRt SR
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28 carrots each day.
r_m ho eat dmng the 12 days of Christmas?
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8, Becky has some coloured counters in a bag.

The ratio of red : blue : green countersis 2:3:4

(i) Given that she has 12 green counters, calculate the total
number of counters in the bag.

(i) If she picks a counter at random from the full bag, calculate the probability that

') (a) she picks a red counter

ANSWET: +overevenivssuesssssrssissssivssivapssnsnssaiversaser (1)

(b) she does not pick a green counter

Becky’s brbther takes 3 blue counters from the full bag.

( : (iii) What fraction of the counters remaining in the bag are blue ones?
a : : _
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"9, Hero is some Information about the number of pets owned by ea_ch of the 18 children

in David's class.
Onc child owns 7 pets.

number of pets owned frequency
0 |l 6
2 L5
3 2
7 1
total 18 -
o o - Q)
(i) What is the modal number of pets owned?
ADISWED: oovsevesserseescssisnsasssstensssrasssnassrssnssisess (1)
(i) What is the median number of pets owned?
Answer: ............ PR {1)
(i) Calculate the mean number of pets owned. 0)
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10, Catoulato the size of each of tho angles marked I, 8,

not to scale

ANSWEAL! 'S8 cccnmurssmmmrmssmrarmsnssesxsnarbon
ANSWEIT 8 = ..oeeieeeeeeeeeceeecsrecresessenseennnnnnns

Answer: t =

----------------------------------------------
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" S.A. 28310226 N 12

W
1) O
@)



: ‘week Billy goes for a run.
' rgm;ah below shows his run last week,
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(i) What was his average speed for the whole run
~ (a) inmetres per minute?

18 20 22
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12. Triangle A is drawn on the centimetre-squared grid belo
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(i) Calculate the area of triangle A,

ANSWEL - oo, cm® (1)

(i) (a) Write down the equation of the dashed line M drawn on the grid above.

. 0
ANSWET: oo, (1)
(b) Reflect triangle A in the dashed line M.
L abe! the image B. | )
- (ili) Translate triangle A by 4 units Ief{ and 2 umts down | |
Label the image C. : (2)
(iv) Rotate triangle A through 180° about the point (3, 2), .
Label the image D. - ()
Look at the shape which is formed by triangtes A and D together. |
(v) Write down the number of lines of Symmetry of this shape.
e | | B , " Answer: _ | 0
s a L AL —— 0
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L .x () Entarge the shape bel L :
o T Pe belaw with seale factor 2 about tho cantro of enlargement P,
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The perimeter of the enlarged shape is 24.5 cm.

-(ii) What is the perimeter of the original shape?

BT A — cm (1)

0 The area of the ongmai shape is 7.5 cm®.

(i) What is the area of the enlarged shape‘?

ANSWET ovnrereriraeseseessessnsaras cm®. (1) 5 )

TURN OVER FOR QUESTION 14
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